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Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 70819114184 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
4

The value of the integral _”9 J-"|dJL' is :
—4

Options :

o
L3 | b
-

70819147111.

70819147112, 2

70819147113.

70819147114, =

Question Number : 1 Question Id : 70819114184 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



4
feafearas _[|9 xz|dx T HS J
-4

Options :

1
70819147111.

122
70819147112. 2
70819147113. 2

128

70819147114. °

Question Number : 2 Question Id : 70819114185 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The sum of infinite number of terms of a Geomelric Progression is 3 and the sum of the

9
squares of its terms is et The sum of the cubes of its terms is :

Options :
31
70819147115, 17
108

70819147116, 19

M| E:}

70819147117.

5
70819147118. 7



Question Number : 2 Question Id : 70819114185 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

= & = = = =, B s - 9:; . = i = -
WF%E}&E?FEB{FH}EWFHHEUWWWEEWETE;U | Ut & WE T 33 Jear

Options :
31
70819147115, 1°
108

70819147116, 12

M|E:i

70819147117.

E
70819147118. 7

Question Number : 3 Question Id : 70819114186 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following Boolean expression is a tautology ?
Options :

70819147119, F =P V4
70819147120. (P29 =P
70819147121, P~ PV @) v (~9)

70819147122, PV "P) A (@ Vv (~9))



Question Number : 3 Question Id : 70819114186 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Jo for getis milaes =9 faoe use Bast e8ewnt 7 2

Options:

70819147119, F =P ¥4

70819147120, P~ =P

70819147121, P~ PV @) v (~q)

70819147122, (P "P) A (4 (~9)

Question Number : 4 Question Id : 70819114187 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

b s l

Let |a| <1, [bl<1, |c|<1 and x= l A = l b z=N ™ If = =+ T are in Arithmetic

1 1
- A
n=( n=() n=( ’

Progression, then :
Options :

70819147123, & b and care in Arithmetic Progression

70819147124, & b and c are in Geometric Progression

70819147125, & 2b and c are in Arithmetic Progression

' i abcky TR —
20819147126. a, b and c satisfy 2b==ac



Question Number : 4 Question Id : 70819114187 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

N6 B8 |a|<1, b|<1, [<1mZ x=) a", y=Y b, z= ) " F@T 7

n=( n=( n=(l '
78, 3¢ :
Options :

a, b M3 ¢ nigditesa &3t =9 95|
70819147123.

70819147124, & b 78 ¢ st == foo o5

70819147125, & 2b w3 ¢ vigaiteEa ®3t &9 g5

_ ” o T 5
20819147126, abmzc 2b ac d HIAC dd€ TG |

Question Number : 5 Question Id : 70819114188 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
{; % +7n+5
L | is equal to :
i n!
Options:

70819147127, 19e+5

70819147128, 19e¢—5

70819147129, 16e—3

70819147130, 16e—7



Question Number : 5 Question Id : 70819114188 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

2 +Tn+5

n!

- 2n

3

n=1

q9E9 J
Options :

70819147127, 19e+5

70819147128, 19e¢—5

70819147129, 16€—3

e |

70819147130, 16€-

Question Number : 6 Question Id : 70819114189 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The least positive integral value of A such that 1070+ (3% (4)°2)+ A is divisible by 9 is :
Options:

70819147131, 2

70819147132.

|

70819147133.

70819147134, 1

Question Number : 6 Question Id : 70819114189 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A T {58531 583K UTs nid HE, 7eid 1070+ (3 (4)2) + A, 93 o A= T
Options :

70819147131, 2

[F5)

70819147132.

=]

70819147133.

[==1

70819147134.

Question Number : 7 Question Id : 70819114190 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

There are 4, 5 and 6 points on the three parallel and co-planar lines. If no set of four or more
points is cyclic and no set of three points lying on distinct lines is collinear, then the number
of circles passing through exactly three points is :

Options :

70819147135, 455

70819147136, 421

70819147137, 435

70819147138, 41

Question Number : 7 Question Id : 70819114190 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



36 AHET »E AHEE! oue Qua4, 5136 i 06 | HeT 99+ 2R 3 <0 fienr = ot & Mg few
dod §3 adt I w3 Quat {35 fiewr o ot & Ry A fa fy-24 9wt 3 95, Avadt &t 3 | 3T Gast
dara ©f a3t 7 1o IR 3 fienr i dud o

Options :

70819147135, 455
70819147136, 421

70819147137, 435

70819147138, 41

Question Number : 8 Question Id : 70819114191 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
| ar—b
(x—1)(x—4)

Options :

Ify= has an extremum at the point (2, —1), then the values of aand b are:

70819147139, =1, b=0

70819147140, 2=0 b=1

70819147141, =0, b=-1

70819147142, 3= ~L b=1

Question Number : 8 Question Id : 70819114191 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



e y=—2 P smfte -1 RamisIean3b 5T

(x—1)(x—4)
Options :

708191471309.

70819147140.
70819147141,

70819147142.

Question Number : 9 Question Id : 70819114192 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The distance between the planes ? {2.:'. [ ; Bk' +5=0 and ? I,b";" | ";; 6k| +2=01is:

Options :
o
70819147143, 13
15

70819147144, 4

70819147145, 9

70819147146.

Question Number : 9 Question Id : 70819114192 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1
55 7|20 +j-2k) +5=0 »3 T- (6743 —6k)+ 2= 0 Revara gt 7 -

Options :

70819147143. 13
70819147144, 4

70819147145, 9

70819147146.

Question Number : 10 Question Id : 70819114193 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
1

The pmbabilit}-' of snlving a pmhlem in Mathematics b}-‘ two students X and Y are Z and g

respectively. If both of them try to solve the problem independently, then the probability
that the problem will be solved by exactly one of them is equal to :

Options :

7
70819147147, 20

70819147148.

70819147149, 2V

70819147150.



12

20

Question Number : 10 Question Id : 70819114193 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

2 oo X3 Y 2 s & R i § o s & e s {1 T 1 AR
FHIRT & WUE-miE <91 5% I8 95 ©f oiHA 996 31 od' 99 e foa fefonradt <8 on ¥9
& srem T Y
Options :

7

70819147147, 20

20
70819147148.

19
20

70819147149.
b

70819147150, 20

Question Number : 11 Question Id : 70819114194 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1+1 is equal to :

The polar form of the complex number
1—1

Options :

cos — + i sin—
” ”
70819147151. e =



cos % i sin%
70819147152. e B

cosi [ fsini
70819147153, -

cos ——1 sin—
70819147154, ' '

Question Number : 11 Question Id : 70819114194 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

ﬁmﬁw-lli?uﬁﬁﬁ;ﬁw%:
1—1 -

Options :
cosz I z'sini
9 9
70819147151. = =

cos ? i sin':
70819147152. R N

COSE [ fsini
70819147153, 4

cos L i Ein.E
70819147154. ' '

Question Number : 12 Question Id : 70819114195 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

If the equation of a line which divides the line segment joining the points (1, 0) and (3, 0) in
the ratio 2: 1 and is also perpendicular to it, is ax=7, then the value of a is equal to :



Options :

]

70819147155.

70819147156. -

70819147157.

70819147158, 1

Question Number : 12 Question Id : 70819114195 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

e feg aur A fa fig (1L, 0)n3 (3,0) 2 i @ 8¢ unds 3 2: 1 migurs e <51 9 oS fem g

Bg 3 g, Gt AMiogs ax=79J | ST HE W J

Options :

I

70819147155.

70819147156. -

M

70819147157.

[==1

70819147158.

Question Number : 13 Question Id : 70819114196 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Equation of the circle, which is the mirror image of the circle 1%+ y>~2x=0 with respect to
the line x+y=2, is :

Options :



70819147159, X Ty?—2x+4y+3=0

"

X -+-L.r2----1x—2l,r-+-_1=[]

70819147160.

PR I A T
70819147161, 2&"+y) —x+y+1=0

2 A N T al
70819147162, ¥ T¥ 24y +3=0

Question Number : 13 Question Id : 70819114196 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

gad, 7 fd T x+y=23 T99 22+ P — =0T TouE Yf3fae I, & miads 9 ;

Options :

70819147159, ¥ ty?—2x+4y+3=0

70819147160, Xt ¥ —4x—2y+4=0

ST P R S
70819147161, 2@~ +y) —x+y+1=0

LR R, T il
70819147162, ¥ tY¥ 24y +3=0

Question Number : 14 Question Id : 70819114197 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
(x+1)° U 1)

22 32

=1 and the circle

Equations of the common tangent of the ellipse
(x+1)2+(y—1)>=4 are :

Options:



70819147163, ¥1T3=0 and x—1=0

70819147164, ¥~ 2=0 and y+1=0

70819147165, *+3=0 and x—1=0

y+3=0 and y—1=0
70819147166.

Question Number : 14 Question Id : 70819114197 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

ety 24 UL — g oy g (v 124 (g~ 12 =4 0 o s et s

3_

5 |
Options :

70819147163, ¥13=0"3 x—1=0

70819147164, *—3=0 S y+1=0

70819147165, *+3=0n3 x—1=0

y+3=0m3 y-1=0
70819147166.

Question Number : 15 Question Id : 70819114198 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

i 1 a
If A= {” J , then Ak (keN) is :

Options :



70819147167.

70819147168.

708191471609.

1 ka
0 0
70819147170.

Question Number : 15 Question Id : 70819114198 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

d

. 1
"Eg A=
[[1 1

] FT Ak (keN) T :

Options :

70819147167.

70819147168.

k ka
0 k

708191471609.

1 ka
0 0
70819147170.



Question Number : 16 Question Id : 70819114199 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The values of s and t, for which the system of equations
.1'1 + .1'2 + .1'3 =5
Xy +2x,+3x,=9
xy+3x;+sx3=t

has no solution, are :

Options :

70819147171, =2, t=13

70819147172, S#5

70819147173. °

70819147174.

Question Number : 16 Question Id : 70819114199 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
swS t T U®, ey &2t AHtaes y=at
Xy +x,+x3=5
xy+3x, +sx;=t
% o 98 &t J
Options:

70819147171, =2, t=13

70819147172, S#5

70819147173, $=2 =13



70819147174, 1 13

Question Number : 17 Question Id : 70819114200 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

. b 4 1 2x ) 3 | i 1 ( 2x )
Derivative of tan ‘ 5 | with respect to sin 5 | in (1, ), is:
k.] . k_1 | _l"',J
Options :
70819147175. 1

70819147176, ~ 1

70819147177.

2

70819147178.

Question Number : 17 Question Id : 70819114200 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

i 2% s —— 2y | o % i

51111‘ j‘EETEE.'taml[ lj‘?%eaﬁ.tﬂhmﬁ{l,xjmﬁaaz
L 1+x ) % ot 0

Options:

70819147175. :

70819147176. ~ 1

70819147177. 0



2
70819147178. ~

Question Number : 18 Question Id : 70819114201 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
‘C‘ )
=T=1. If axlaxc/+b=0,then

T N —. ¥ —_ — —_ =

—5 —5
Let a, b and ¢ be three vectors such that ‘a‘:

b

—

o
the acute angle between a and ¢ is:
Options :

am

&)

70819147179.

NE

70819147180.

o
q

70819147181.

5w
12
70819147182.

Question Number : 18 Question Id : 70819114201 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

~l

=1. H&H;x*gxz' | E—HE{?

= .—\. —3 H.—> ] —— —
oot fiateeg a, b3 ¢ BAT ‘a‘= b

I:\J|

g A o
ans c fRea s az v :
Options :

70819147179.



o3

NE

70819147180.

m
3

70819147181.

s
12
70819147182.

Question Number : 19 Question Id : 70819114202 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Solution of the differential equation (1 +y*)dx = (tan~ly—x)dy is :
(where c is an arbitrary constant)

Options :

) -1 tan 'y
70819147183, Y~ 1 tan ‘ytce

1

y=tan "y—1+ ce tan x

70819147184.

- -1 —tan '13.;
70819147185, X tan y-ltce

70819147186.

Question Number : 19 Question Id : 70819114202 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



fseufmm miaas (1+y7)dx=(tan" ly—x)dy & 35 T :
(fFg c =t =t nies )

Options :

tan "y

i -1 -
70819147183, Y~ 1 tan ytce

15— 1 : tan 1x
70819147184, Y=tan "y 1t ce

. -1 --tin_'lj.l.r
70819147185, Y tan y-ltce

70819147186.

Question Number : 20 Question Id : 70819114203 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

y ) ; — .z:l .z.:_ ' .
The values of x, for which the vectors a = (x>~16)i+4 j— (x*~25)k make acute angles with

the (positive directions of) coordinate axes lie in :
Options :

70819147187, 17> ~4 v 4. 5]

70819147188, =2 4) v (=4, 5]

70819147189, (7> ~4) Y & 9)

70819147190, (>4 W (=49)

Question Number : 20 Question Id : 70819114203 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



7o 22T a = (x2-16) i +4 - (x2-25)k Ufonit it TeEHa e w7 s e we g T, Je
1 1% fon feg J=ar
Options :

70819147187, L2 —4 v 45

70819147188, [ =2 4) = (=4, 5]

70819147189, (72 ~4) v (& 5)

(=5, 4) U (—4,5)

70819147190.

Mathematics Section B
Section Id : 708191505
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5
Section Marks : 20
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 708191785
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 70819114204 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

dx 1s
2

=

Tj |1+ cos2x
i)
uﬁ"l



Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 21 Question Id : 70819114204 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

™ 11+ cos2x
LJ'— dx T
0

3

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 22 Question Id : 70819114205 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The minimum value of 9tan20 +4cot20 is

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001



Question Number : 22 Question Id : 70819114205 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Otan?@+4cot?d T G8&SH W T |

Response Type : Numeric

Evaluation Required For SA: Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 23 Question Id : 70819114206 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

%
The length of the perpendicular from the point (1, 2, 3) to the line = =

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 23 Question Id : 70819114206 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

. s —X+6 y-7 z-7 .,
fag (1,2 3) 3 o T@EgESEE T

3 2 2

= e

Response Type : Numeric

Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 24 Question Id : 70819114207 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

L1
| are in Arithmetic Progression, then the value of x is

' /
If log 2, log, (2 ~5) and logs| 2*
' ' g - /

2 | =1

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 24 Question Id : 70819114207 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

3153 log, 2, log, (2 5) 103;5( 2% %J visastsa sat o 9, 3y T
J 1

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001



Question Number : 25 Question Id : 70819114208 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

¢ y 2

If x2+x+1=0, then J{I i|2 | | £2
x)

|\

Response Type : Numeric

4 22
||r;,_j i\ l 15
RN g

1
x2

Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 25 Question Id : 70819114208 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

.aly

Jag 22 +x+1=0, 3¢ J|rx llelrxz
l~ x )

Response Type : Numeric

1
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 26 Question Id : 70819114209 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

22 +y?—4x—2y—-11=0 is a circle to which tangents are drawn from the point (4, 5) which
form a quadrilateral with a pair of radii. The area of this quadrilateral in square units is

Response Type : Numeric



Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 26 Question Id : 70819114209 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

fie (4, 5) 3 909 22 +y2—4x -2y 11=0 3 mign ut fifonlt st 5 7 fa wiaw fommm € W3

&% fEq 93099 sg e 76 | 3% 93990 © U39es (Fad feaem fB9) . T

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 27 Question Id : 70819114210 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

If the sum of mean and variance of a binomial distribution is 15 and the sum of their squares
is 117, then the number of independent trials isequal to .

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001



Question Number : 27 Question Id : 70819114210 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

HeG T R S5 T HOHG WS YRGS @ nF 15 I 03 fegst € Ter & 77 117 T | 5T F339 o
(cofesh) e foest T

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 28 Question Id : 70819114211 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
Let the equation of the plane passing through the points (1, 2, 6), (2, 5, 7) and perpendicular

to the plane 4x—y+z=15be ax+by+cz+d=0. Ifa, b, ¢, d= Z with ged (|a|, |b, |c|)=1,
then |at+b+c+d|isequal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 28 Question Id : 70819114211 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Ho B8 fea 35 e milaes ax +by+cz+d=03, 7 3 g (1,2,6), (2,5,7) =8 Bt I3 38
Ax-y+z=153 #3 J | ¥a9 a, b, ¢, deZ & HAZ (a, b, |d)=1, 3T [a+b+c+d| ==
T

Response Type : Numeric



Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 29 Question Id : 70819114212 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

dr 7w .,
The number of real solutions in the interval [ ' -‘ of the equation 4sin“x — 8sinx + 3=1

15

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 29 Question Id : 70819114212 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
[ 3z 7=

WITH { 7,71 fe9 AHtads 4sinfx —8sinx+3=0 € =E3fea d&t & fazst

|

_d
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :



5 to 5.001

Question Number : 30 Question Id : 70819114213 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
1 1 10

Let Aj, Ay Ay o be an increasing geometric progression. If T4 h &
AA =441, then 3(A,+A;)isequal to

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 30 Question Id : 70819114213 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
1.4,

and

He B8 A, Ay, A,, ... 8% Juet fawfest &3t 3 1 dag Lt =5 »3

Ay Ag 63
AA, =441, FE3(A+A)TET T |
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5to 5.001

Aptitude Test



SectionId : 708191506
Section Number : 3

Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 50
Number of Questions to be attempted : 50

Section Marks : 200

Mark As Answered Required?: Yes
Sub-Section Number : 1
Sub-Section Id : 708191786
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 70819114214 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which among the following is the full form of the “‘UNESCO" ?

Options :

70819147201. United Nations Educational, Scientific & Cultural Organization.

70819147202. United Nations Educational Sc-curit}-' Cultural Drgani_zatifm.

70819147203, United Nations Entrance Site Calling Organization.

United Nations Educational, Sustainable & Cultural Organization.
70819147204.

Question Number : 31 Question Id : 70819114214 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

= P o fal

95 &3 9 fagam 'UNESCO’ (gdrAa) & YT @9 (Full form) &1 T |




Options :

70819147201. L Elies aren EAHOS, AfEfesta (scientific) »iZ THU9® MAAGEIHHG

70819147202. GETE eS 3HaH PHoHes HIdGIge! aBues MadaTEHEs

20819147203, FOEICS SHAH EGSUR HIELC Sidal MadieTeltms

ies aHed Tge < - MFIETE THG
70819147204, T Ciics Foed Efclliads HHCAEE M3 ABOIS :

Question Number : 32 Question Id : 70819114215 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Match List - I with List - 1L
List - 1

(I)  Hall of Nation (a)

(II) Falling Water, Pennsylvania (b)

(IIT) Petronas Tower (©)
(IV) Secretariat (d)
Options :

20819147205, D), (ID-(@), [D-(d), (IV)-(c)

20819147206, D-(9), (ID-(d), (D-(a), (IV)-(b)

20819147207, D@, (ID-(b), (ID)-(c), (IV)-(d)



20819147208, OBk (Ha), (<), EV)Hd)

Question Number : 32 Question Id : 70819114215 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
gt 18 gt 1l && fisge a9

got - 1
(I) T e 36 (a)
(I) efoarTTed, USHSBSAHT (b)
(II) U&= (c)
(IV) AZa33 (d)

Options :



70819147205, (D-(b), (I)-(a), (ID)~(d), (IV)-(c)

20819147206, 1), (1)-(d), (D-(a), (IV)-(b)

20819147907, 0@, (I)-F), ([D-(<), AV)-(d)

20819147208, 9P (IHa), (<), (VHd)

Question Number : 33 Question Id : 70819114216 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Match List - I with List - 1L

List - 1 List - 11
(I) Kamru (
(II) Delhi ( Badrinath Temple
(IIT) Fatehpur Sikri (c) Khirki Masjid
(IV) Kolkata (d) Buland Darwaja

a) Victoria Memorial Hall
)

Options :

20819147209, Wb}, (ID)-(c), (HD-(d), (IV)-(a)

20819147210, D-(b), (ID-(d), (I)-(c), (TV)-(a)

20819147211, D), ()-(a), (D)-(b), (IV)-(d)

70819147212. (D-(b), (I)-(a), (ID)-(d), (IV)-(c)

Question Number : 33 Question Id : 70819114216 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



ot 13 gat 1l &s fusts ag|

get - 1 get - 11
(I) THg (a) Teoedhr Idnie T3
(I fost b) sedemy g
() =fous et (o) fasel wAfie
(IV) a&as (d) =®e To=w
Options :

70819147209, V(b): (I)-(c), (IID-(d), (IV)-(a)

70819147210, (D-(b), (ID)-(d), (I)-(c), (IV)-(a)

20819147211, D), ()-(a), (ID)-(b), (IV)-(d)

70819147212. (D-(b), (I)-(a), (HID)-(d), (IV)-(c)

Question Number : 34 Question Id : 70819114217 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Match List - I with List - 1L
List - 1 List - 11

() Agra fort (a)
(II) Atala Masjid (b)
(Il Nalanda University (c)
(IV) Jagannatha Temple (@
Options :

20819147213, D-(b), (ID-(c), (ID)-(a), (IV)-(d)

70819147214, (D-(@), (I)-(b), ([D)-(c), IV)~(d)

70819147215, 1), (D-(a), (1D-(d), (IV)-(b)

70819147216, V) (ID-@), [I)~(c), IV)-(d)



Question Number : 34 Question Id : 70819114217 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
got 13 gt 1l &® fHo's a9

get - 1
(D e foey (a)
(I) wewr WAfaE (b)
(1) a%er fane fefonmas (c)
(IV) #deeE Hieg (d)
Options :

70819147213, O-(0), (I)-(¢), (D)-(a), (IV)-(d)

70819147214, (D), (ID-(b), ([D)-(c), (IV)-(d)



70819147215, M+9)- (D-(@). (I1D-(d), (IV)-(b)

70819147216, P} (1)-@), (D-(c), (TV)«(d)

Question Number : 35 Question Id : 70819114218 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List - I with List - II.

List - 1 List - 11
(I) Yadvindra Garden (a) Manali
(II)  Vishnu Temple (b) Amritsar
(III) Hidimba Temple (c) Pinjore
(IV) Hari Mandir (d) Bunivyar
Options :

20819147217, (D-(©), (I)-(d), (D-(b), (IV)-(a)

70819147218, (D-(©), (I)-(d), (ID)-(a), (TV)-(b)

70819147219, D-(d), (I)-(b), (ITD~(c), (IV)-(a)

70819147220, (D-(b), (I)-(d), (D)-(a), (IV)-(c)

Question Number : 35 Question Id : 70819114218 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



gt 13 gat 1l &® fuse 59|

geit - 1 Het - 11
1) e Trdss (a) He®
() femg Hfes (b) rwifiEAT
(IIT) afs=r Higs () fie
(IV) odt sifes (d) gfonrg
Options:

70819147217. (D-(c), (II)}-(d), (IID)-(b), (IV)-(a)

70819147218, (D-(), (I)-(d), (ID)-(a), (IV)-(b)

20819147219, (D-(d), (ID)-(b), (LD)~(c), (IV)-(a)

70819147220, (D-(b), (I)-(d), (M)-(a), (IV)-(c)

Question Number : 36 Question Id : 70819114219 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List - I with List - 11.

List - 1 List - 11
(I)  Mehrangarh Fort (a) Hyderabad
(II)  Siri Fort (b) Kolkata
(IIT) Golconda Fort (c) Delhi
(IV) Fort William (d) Jodhpur

Choose the correct answer from options given below :
Options :
70819147221. (D-(a), (I)-(d), (ID-(b), (IV)-(c)

20819147222, (D-(d), (I)-(c), (I)-(a), (IV)-(b)

70819147223, (DA (1)-(c), (ID)-(b), (IV)-(a)



20819147224, 9@ (D-(b), (ID-(d), (IV)-(c)

Question Number : 36 Question Id : 70819114219 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
get 1§ got 115 fioe a9 |

et - 1 get - 11
0 roea fao; (a) dvTEY
() fAet fom (b) SHeET
() TS T (c) fo=t
(IV) fefemn = fae; (d) oy
I &3 feamut & Aat B39 539 -
Options :

20819147221, (D-(@), (M)-(d), (ID)-(b), (IV)-(c)

20819147222, (D-(d), (ID-(c), (ID-(a), (IV)-(b)

70819147223. (D)=(d), (IT)=(c), (ID)=(b), (IV)-(a)

20819147224, (@) (D-(b), (D)-(d), (IV)~(c)

Question Number : 37 Question Id : 70819114220 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Book ‘God of small things’ is written by which Indian Architect ?

Options :

70819147225, B-V- Doshi

70819147226. Arundhati Roy



70819147227, Revati Kamat

70819147228, Dimal Patel

Question Number : 37 Question Id : 70819114220 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

faz ‘33 e AN® faam” Tags 3793 & nirdalede e=rar o gt o ¢

Options:

70819147225, < =HI

70819147226, "I6TSt T

70819147227.

70819147228, [EHE U

Question Number : 38 Question Id : 70819114221 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
‘Tharokha’ is a type of window mostly found in :
Options :

70819147229, Swjarat

70819147230, "Vest Bengal

70819147231, lamil Nadu



70819147232, Rajasthan

Question Number : 38 Question Id : 70819114221 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
‘sour § B fapH = fugdr 9, fBst &9 fap 99 &9 e uet g9t O 2

Options :

70819147229, IHIS

70819147230, UEHT HaT

70819147231. -

70819147232.

Question Number : 39 Question Id : 70819114222 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The monsoon wind enters in Indian sub-continent from which direction ?

Options :

70819147233, North-West side

20819147234. South-East side

70819147235, TNorth side

70819147236, South-West side



Question Number : 39 Question Id : 70819114222 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Hegs o= fag=t fer <8 3793 Qu Aoy R9 Y=g awet 3 7

Options :

70819147233, | e R

70819147234, THE U9H % UH

70819147235, &30 =8 UH

70819147236, THe UEH W UH

Question Number : 40 Question Id : 70819114223 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the fnllowing buﬂding represents the colonial Architectural pattern in India ?

Options:
70819147237, Bharat Bhavan in Bhopal

70819147238 LIC Buﬂding in Delhi

70819147239. Charminar in Hyderabad

T s ; 9 - i i
20819147240. Victoria Memorial in Kolkata

Question Number : 40 Question Id : 70819114223 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

J5 &3 139 foodt fonas ‘arsiew (a@a®) niedlcaDy’ 291 § ydie dJel J ¢
Options :

70819147237, 293 =0 ~IU®

70819147238, B MELHL fewes —foat

70819147239, 9 A9 ~JETEE

70819147240 ' eI HHIGNS ~oler

Question Number : 41 Question Id : 70819114224 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

What is the size of A2 Drawing sheet ?

Options:
20819147241 420 % 590 (mm * mm)

70819147242, 20594 (mmx mm)

70819147243, 297420 (mm x mm)

20819147244, 420592 (mm > mm)

Question Number : 41 Question Id : 70819114224 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



A2 39fEa Aiz T af HU 97 U (mm= Hi®hiteg) ?
Options :
20819147241, 20590 (mm > mm)

70819147242, 20>¢594 (mm > mm)

70819147243, 297420 (mm> mm)

20819147244, 420592 (mm x mm)

Question Number : 42 Question Id : 70819114225 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Victory Tower belongs to which of the following fort :
Options :

70819147245, Chittor fort

70819147246, Jaigarh fort

70819147247, Bhangarh fort

70819147248, ‘vmer fort

Question Number : 42 Question Id : 70819114225 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

‘fegedt g=q’ faod I oy o8 &% Aeus U ¢

Options :



70819147245, (557 € 6%

70819147246, 0% T 1

70819147247, F00% T 1o

g = famr
70819147248. %

Question Number : 43 Question Id : 70819114226 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which amongst the following Architect has designed the famous Temple “Akshardham” ?
Options:
70819147249, Sanjay Puri

70819147250, ¥ ikram Lall

70819147251, “ishok Lall

70819147252, & Sompura

Question Number : 43 Question Id : 70819114226 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
feat o5 fauz madicae 8 HAZT ¥ifed “namauy™ fsarfes ez T ¢

Options :

70819147249, A udl



70819147250, [S9OH T

o
70819147251, R 816

At. AHuDT
70819147252.

Question Number : 44 Question Id : 70819114227 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

“Volume Zero” Documentary is on which Architect ?
Options:

70819147253. Charles Correa

70819147254. Richard Mier

70819147255, Jasbir Sachdev

70819147256. Ranjit Sabliki

Question Number : 44 Question Id : 70819114227 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

‘TETH Hi9’ ERIedr faa3 widdicae © 99 o ¢
Options :
70819147253. 5T j

70819147254,



70819147255.

70819147256, S0TIS HISH]

Question Number : 45 Question Id : 70819114228 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
‘Agenda 21" is declaration related with :
Options :

Climate change

70819147257.

70819147258, Clobal warming

70819147259, Suslainable dr_-velnp ment

70819147260, Smart city

Question Number : 45 Question Id : 70819114228 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

‘ersT 21 & unE fan &% Fus J 7
Options :

70819147257, HAH F8€

70819147258, THE STHIH

70819147259. '



70819147260. gz Rt

Question Number : 46 Question Id : 70819114229 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Gold mines are situated in which state of India ?
Options :

70819147261. Karnataka

70819147262, Orissa

70819147263. Maharashtra

70819147264, Uttar Pradesh

Question Number : 46 Question Id : 70819114229 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

& ot yiat, 993 © fags 99 <o pfag 98 ?
Options :

70819147261, 907

70819147262, ~

70819147263, HIIHET

70819147264. = i



Question Number : 47 Question Id : 70819114230 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
In the Southern Hemisphere shadowless light is from which direction ?
Options :
70819147265, North

70819147266, Ocuth

70819147267, Cast

70819147268, WVest

Question Number : 47 Question Id : 70819114230 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

THE Jn'd feg Udee 9id3 9Fal aogt e 3T wEer T ?

Options :

70819147265. =

70819147266.

70819147267, 297

70819147268, ~&=H

Question Number : 48 Question Id : 70819114231 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1
The first Indian Architect who has won Pritzker Prize in 2018 is :
Options :

i _
70819147269, oY+ Doshi

70819147270, aurie Baker

70819147271, & Rewal

20819147272 Ach}-'ut Kanvinde

Question Number : 48 Question Id : 70819114231 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
fargaT ufowr gvast mrdalitcae firg fuenmaa uarara 2018 feg fifsnr |

Options :

70819147269, S-=1. =HI

70819147270, 9 5O

70819147271, O 959

70819147272. 983 Fsiee

Question Number : 49 Question Id : 70819114232 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Word “ Bungalnw" has nriginatc-d from :



Options :

70819147273, Bengalurm

70819147274, Banaras

70819147275, bengal

70819147276, Bari

Question Number : 49 Question Id : 70819114232 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Options :

70819147273, o029

70819147274. E

[

70819147275.

70819147276, 91

Question Number : 50 Question Id : 70819114233 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The IIM - Ahmedabad is designed by which of the following Architect ?
Options :

70819147277. Laurie Baker



70819147278, Louis Kahn

70819147279, Lutyen

70819147280, Le Corbusier

Question Number : 50 Question Id : 70819114233 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
‘ot wret wie” mifqueee 98 8y faoz wigdlicae @ fearfes ez 9 2

Options:

70819147277, B9l #a@

70819147278. S

708191472709, '5% Fols)

70819147280. ISR

Question Number : 51 Question Id : 70819114234 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In the given figure, how many squares are present ?

Options :



70819147281, 1%

70819147282, 13

70819147283, 12

70819147284, 18

Question Number : 51 Question Id : 70819114234 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

o3 g 939 <9, 9% fda =9a ige &2

Options :

70819147281, 14

70819147282, 13

70819147283, 12

70819147284, 18

Question Number : 52 Question Id : 70819114235 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



A drawing is provided with all the folds to construct the following three Dimensional object.
Select the correct one.

Options:
I ]
1 |
70819147285.
I
I
70819147286.
.
_I .-
| |
70819147287.
I | |
70819147288. ]

Question Number : 52 Question Id : 70819114235 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Safed A e®st ¥ &% o3t aet I sy a1 Ja 183t s wamdt 3-8t @z = fsawz alis 9 1 At
BT ;|

Options :
I —
1 |
70819147285.
I
I
70819147286.
-
_I .-
| |-
70819147287.

70819147288.



Question Number : 53 Question Id : 70819114236 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The problem figure shows the top view of an object. Identify the correct view looking in the
direction of arrow, amongst the answer figures.

- DE O
Options :

A
708191472809.

N
70819147290.

Il
70819147291.

70819147292.




Question Number : 53 Question Id : 70819114236 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Ae 939 fon erg o ot o fem fowr foor 9 | ey 9" uee faogr wem fo3 fem =rg o At

€ DE 0
Options :

A
708191472809.

A |
70819147290.

\
70819147291.

70819147292.



Question Number : 54 Question Id : 70819114237 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The problem figure shows the top view of an object. Identify the correct elevation amongst
the answer i’igures Iooking in the direction of arrow.

—
I

Options :
70819147293.

L
70819147294.

[ 1
70819147295.

70819147296.



Question Number : 54 Question Id : 70819114237 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

e fu39 fan @mg = 9t © fom few foor 9 | fist 159" uee foomr wee fos fem emg & rove
= fer(wders) fewSer 3, 7 6% Sto &t few <8 ohor e

=
I

Options :
70819147293.

L]
70819147294,

[ ]
70819147295.
70819147296.

Question Number : 55 Question Id : 70819114238 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

The problem figure shows the top view of an object. Identify the correct elevation amongst
the answer figures looking in the direction of arrow.

>

T

Options :

70819147297.

70819147298.

70819147299.

70819147300.

Question Number : 55 Question Id : 70819114238 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



e o34 R @Ag & g¢l © fen few fqor 9 | st 8" uee fooer mie fo3a fem 2rg @ rrowe
 feridiems) few@e 9, 7 8m ST & fomr <8 Sfor Frar

T

T

Options :

70819147297.

70819147298.

70819147299.

70819147300.

Question Number : 56 Question Id : 70819114239 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



One of the ollowing answer fig_ures is hidden in prohlr_-m figurc- in same size and direction.
Select correct one.

Options :
70819147301. >
70819147302. D
70819147303. v
70819147304. ﬁ

Question Number : 56 Question Id : 70819114239 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
75 fc3 7es fos9' fou aet foa res fose fRa sfanr dfowr 7, 8R wu v GF forr 551 mdt 7o

9z |

Options :

70819147301. §



70819147302. D
70819147303. ;
70819147304. ﬁ

Question Number : 57 Question Id : 70819114240 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

One of the following answer figures is hidden in problem figure in the same size and direction.
Select correct one.

Options :

70819147305.

70819147307.

W
70819147306. Q
0
N

70819147308.



Question Number : 57 Question Id : 70819114240 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
J5 o3 7o fosat feu aet fo pews fo3g oo sfomr 3fewr 3, €1 vuns € fowr G911 Aot 7o

ge |

Options :

70819147305.

70819147307.

W
70819147306. Q
0
N

70819147308.

Question Number : 58 Question Id : 70819114241 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

One of the [ ollowing answer figures is hidden in the pmhlc-m t’igurr_- insame size and direction.
Select the correct one.

Options :

708191473009.



N

70819147310. i
70819147311. :

70819147312. [>

Question Number : 58 Question Id : 70819114241 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
75 o3 o8 o397 feu ol fea e 939 fog ®fonr dfenr 7, B8R wu ne BF fom &9 Adt 7o

gz |

Options :

708191473009.

70819147311.

N
A
>

70819147312.



Question Number : 59 Question Id : 70819114242 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

One of the following answer figures is hidden in the problem figure in same size and direction.
Select the correct one.

Options :
70819147313. D
70819147314. D
70819147315. O
70819147316. f

Question Number : 59 Question Id : 70819114242 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

75 3 e o391 fos ot e pew foza oo wfomr Ifowr 3, 8F vu w3 B fow B9 At wes
gz |

Options :

70819147313. D



70819147314. D

70819147315. O

70819147316. #

Question Number : 60 Question Id : 70819114243 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Which one of the answer t’igures is correct mirror image of problc-m figuro with respect to
X-X?

X
O
[]
X
Options :
]
70819147317.

70819147318.



]
[l
]
70819147319,
[
[]
70819147320,

Question Number : 60 Question Id : 70819114243 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

g A=s fo39, yms fogg o mdt Bty 129 foy foor fose (ySifde) 9, X XEwaa 3 ?

X

O




Options :

70819147317.

70819147318.

70819147319.

70819147320.

Question Number : 61 Question Id : 70819114244 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

Which one of the answer figuros is the correct mirror image of the problem t’iguro with
respect to X-X ?

N\
A

N\
(D)
@J

AON
NZ;

70819147324.



Question Number : 61 Question Id : 70819114244 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

forgaT A= fuse,ums 39 © Aat By {29 foy fagr fose (ysifee) 9, X XEwag 32

A

Y

X X

Options :

70819147321.

D)
N

70819147322.

P,

Ao

70819147323.

0N
N2

70819147324.



Question Number : 62 Question Id : 70819114245 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which one of the answer figures is the correct mirror image of the problem figure with
respect to X-X?

7 X
Y/INN

/
N\ X
Options :
N
L /N\Y
N\
70819147325. /
N
NV
N\
70819147326. /
N
P
N/
70819147327. /[\

70819147328.



N4
AN

Question Number : 62 Question Id : 70819114245 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

g Ae fo39, ums foso o mat fin <5 foy foor foso (ystfee) 3, X XT wog 3 2

/ X
VIR
/
% X
Options :
o
NV
N
70819147325. /
N
NV
o
70819147326. /

70819147327.



/N

70819147328.

Question Number : 63 Question Id : 70819114246 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which one of the answer figures complete the sequence of the problem figure ? Select the
correct one.

Options :

70819147329.

70819147330.

70819147331.



N
S

70819147332.

Question Number : 63 Question Id : 70819114246 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

foozr 7ers 939, Aew 939 € gy & U9 g9ar? A A= B2 |

Al

Options :

74
70819147329.
70819147330.
70819147331. |

70819147332.



Question Number : 64 Question Id : 70819114247 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

/

Options :

70819147333.

70819147334.

70819147335.

70819147336.



Question Number : 64 Question Id : 70819114247 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

351 fo3g fan emg & fem fowr foor 9 | foow e 1939, fon <R3 o At fom few@e 3, 7 B8R
319 € fomr <8 eftmr wan|

/!

Options :

70819147333.

70819147334.

70819147335.

70819147336.



Question Number : 65 Question Id : 70819114248 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

3

/!

Options :

70819147337.

70819147338.

70819147339.



70819147340.

Question Number : 65 Question Id : 70819114248 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

351 foze fan ez & fom fowr foor 3 | foor e T3, fem emg o ndt fom few@er 9, 68
Fi9 & fopr &8 Thtmr F=er

3

/ﬂ

Options :

70819147337.

70819147338.



708191473309.

70819147340.

Question Number : 66 Question Id : 70819114249 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

4

Options :

70819147341.

70819147342.

70819147343.

70819147344.



Question Number : 66 Question Id : 70819114249 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

351 fozv fon =g = fem few foor T | foow vere o9, fememg o rdt fem few foor 3, A B2
319 € fer <8 < T

Options :

70819147341.

[ ]

70819147342,

70819147343.



70819147344.

Question Number : 67 Question Id : 70819114250 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

/Z

Options :

70819147345.

70819147346.

70819147347.

70819147348.



Question Number : 67 Question Id : 70819114250 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

351 39 fan ez = fem fowr foor 9 | fooer vee fo3s, fer amg o mdt fom fow foor 9, A 6R8
39 & fogr <% it gear|

/ﬂ

Options :

70819147345.

70819147346.

70819147347.

70819147348.



Question Number : 68 Question Id : 70819114251 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

/!

Options :

70819147349.

70819147350.

70819147351.

70819147352.

Question Number : 68 Question Id : 70819114251 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

351 fd39 fan eng = fom fowr foor 9 | faoar were o9, fon eng o Rdl fem few foor 9, 7 6m
319 ©f foFr <5 ofinr A=ar |

/

Options :

70819147349.

70819147350.

70819147351.

70819147352.

Question Number : 69 Question Id : 70819114252 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

7

Options :

70819147353.

70819147354,

70819147355.

70819147356.

Question Number : 69 Question Id : 70819114252 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



351 faz9 fan ez o fop fowr foor 9 | foogr were O34, fenamz @ At fem few@er 3, 7 BR3
319 o ferr 38 Tftmr Frear

/

Options :

70819147353.

70819147354.

70819147355.

70819147356.

Question Number : 70 Question Id : 70819114253 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

/

Options :

70819147357. '

70819147358.

708191473509.

70819147360.

Question Number : 70 Question Id : 70819114253 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



351 fa39 fan 2ng = fom few foor 9 | fooar e fU3q, fon a3 @ At fem fewfer O, W EM
319 & fomr @8 oher aear

Vi

Options:

70819147357. '

70819147358.

708191473509.

70819147360.

Question Number : 71 Question Id : 70819114254 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

/I

Options :

70819147361. —I

70819147362. l

70819147363.

70819147364.

Question Number : 71 Question Id : 70819114254 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



3-51 {939 fan <pg @ fop fowr foor 9 | faoa meme fusq, fer @z o At fom fow€er 9, 7 BR8
319 o femr 28 oftmr F<ar |

/

Options :

70819147361. —I

70819147362. |

70819147363.

70819147364.

Question Number : 72 Question Id : 70819114255 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

y

4

Options :
L]

70819147365.

L]
70819147366.
70819147367. [:]

L]

70819147368.

Question Number : 72 Question Id : 70819114255 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

33t 1939 far =m3 o fon four foor 3 | fooa meme fo3q, fem oR3 o At fem few@er 3, A €M
319 € femr <5 i A=ar |

y

Options :

70819147365.
70819147366.
70819147367.

70819147368.



Question Number : 73 Question Id : 70819114256 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

Options :

|
70819147369. | |

|
70819147370. | I
70819147371. | l

||
70819147372. l

Question Number : 73 Question Id : 70819114256 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

3-8t fd39 fo 23 = fom fewr foor 3 | fooF vee 39, fen amg e At fem fow@er 3, 7 8M
319 & femr <5 <o /12

Options :

|
70819147369. | |

|
70819147370. | I
70819147371. | I

||
70819147372. l

Question Number : 74 Question Id : 70819114257 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

7

Options :

70819147373.

70819147374.

70819147375.

70819147376.

Question Number : 74 Question Id : 70819114257 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



35t fisg foR e T fem few foor I | oo e o', femomg o rdt fem fowr foor 3, 68
9 € femr 8 eftmr A=ar

/l

Options :

70819147373.

70819147374.

70819147375.

70819147376.

Question Number : 75 Question Id : 70819114258 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The 3D figure shows the view of an object. Identify the correct top view, amongst the answer
figures.

Options :

70819147377.

70819147378.

70819147379.

70819147380.

Question Number : 75 Question Id : 70819114258 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



3351 fuzT fon dw o fepfow foor I | oot fo5 faue 7oe fig, feR ol ord Sdt o fop fewr
fgar T

Options :

70819147377.

70819147378.

70819147379.

70819147380.

Question Number : 76 Question Id : 70819114259 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The 3D figure shows the view of an object. Identify the correct top view, amongst the answer
figures.

Options :

70819147381.

70819147382.

70819147383.

70819147384.

Question Number : 76 Question Id : 70819114259 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

3t fozg fom ot o fog fowr faor I 1 fist e foaar mem fuige, fom dw o it 98 & fom fowr
faor T

Options :



70819147381.

70819147382.

70819147383.

70819147384.

Question Number : 77 Question Id : 70819114260 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The 3D figure shows the view of an object. Identify the correct top view, amongst the
answer figures.

Options :

70819147385.

70819147386.



=

70819147387.

=

70819147388.

Question Number : 77 Question Id : 70819114260 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

3-51 39 fam dim o fog four foor I | st fo8 Tz e fisa, femdtg o dt 961 & fom four
fggr T

Options :
70819147385.
70819147386.

70819147387.



=

=

70819147388.

Question Number : 78 Question Id : 70819114261 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Identifj.,-' the buﬂding compositions of having less visual tension amongst the fo[lnwing figurcs.

(A) (B)
(€ (D)
Options :

70819147389, () and (B)

(B) and (C)
70819147390.

70819147391, (©) and (D)

70819147392, (P) and (&)

Question Number : 78 Question Id : 70819114261 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

s

UE'E 99, 76 fo3t faaat forast auste 29 ovs Aadt (Visual) W2 352 7 72

(A) (B)
(©) (D)
Options :

70819147389. £ Pt

70819147390. s o)

70819147391, (©) "3 (D)

70819147392, () 5 (A)

Question Number : 79 Question Id : 70819114262 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The problom f igure shows the top view of an ohjoct. Idonti_f}-' the correct elevation amongst
the answer figures looking in the direction of arrow.

v vi— O
v —54
Options :

70819147393.



70819147394,

70819147395.

70819147396.

Question Number : 79 Question Id : 70819114262 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

As fo39 fon og v 92t © fop fow foor T | 5T fo8° vz fooz 7ew fos9, fer s T Ao
 fom (wdftems ) feur foor ©, 31 B Sto & femr <8 oftmdt e |

Options:

70819147393.

70819147394.

70819147395.

70819147396.



Question Number : 80 Question Id : 70819114263 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The prohlom f igure shows the top view of an ohjoct. ldontif}-' the correct elevation amongst
the answer figures looking in the direction of arrow.

[
\

Options :

70819147397.

70819147398.

2 2 4

70819147399.



70819147400.

Question Number : 80 Question Id : 70819114263 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

e o33 fon @rg & 92 © fom few foor 7 | st 199 uee fooer wee fosm, fem v © Ao
T fen (Wiems ) few@er 9, 7 8 319 € femr &8 tfr Arear |

[\
V

Options :

70819147397.

70819147398.

70819147399.



70819147400.

Drawing
SectionId: 708191507
Section Number : 4
Section type: Offline
Mandatory or Optional : Mandatory
Number of Questions : 2
Number of Questions to be attempted : 2
Section Marks : 100
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 708191787
Question Shuffling Allowed : No

Question Number : 81 Question Id : 70819114264 Question Type : SUBJECTIVE

Correct Marks : 50



Draw a proportionate skelch of given reference image by using any black and white rendering
teduﬁques of your own choice.

OR

Decode image and prepare balanced composition in a frame of your choice by using any
black and white rendering techniques.

Question Number : 81 Question Id : 70819114264 Question Type : SUBJECTIVE
Correct Marks : 50
WIUE URT ©f a® nF Sic-URaTSt ©f Ja0id © A o3 dF AT® (939 © meHST fi39 588 |
(@)
fest ot 37R1T ¢ slos aT mie MU SO ©F uRE T a8 fed R3S 99T M9 &9 | Mg uRe
v a3 -fge Unadt saata ot 292 a9 |




Question Number : 82 Question Id : 70819114265 Question Type : SUBJECTIVE

Correct Marks : 50

Draw a scene of a Kite festival by using colors.
OR
Draw a Harmonic three dimensional composition with the following two types of objects.
(i) CUBOID A :SIZE 2 cmX 2 ¢cm X2 cm, 5 Nos.
(i) CUBOID B :SIZE5 ecmx2 cmx 2 cm, 4 Nos.

Use “Cool Colorscheme” for composition.

Question Number : 82 Question Id : 70819114265 Question Type : SUBJECTIVE

Correct Marks : 50
dar € 293 J9e dT usdl © 3807 = fa fem 526 |
@)
g5 feftm € farmt © 22 © &% fea vranfsa 3 »iomdt Sos 5578 ¢
(i) faB=fes (CUBOID) A : HU 2 cm X 2 cm X 2 cm, 5 Nos.
(i) faB=fes (CUBOID) B: HU 5 cm X2 cm X2 cm, 4 Nos.

i 1 o
&31 991 5 T =932 F99 |




